


SSC PREVIOUS YEAR

QUESTIONS



Q1. Select the most appropriate

synonym of the given word.

Prevalent

1. Common

2. Size

3. Reject

4. meagre

Solution : 1. Common



Q2. Select the most appropriate

synonym of the given word.

Extent

1. Range

2. Normal

3. Current

4. going

Solution : 1. range



Q3. Select the most appropriate

ANTONYM of the given word.

Resolve

1. solve

2. Reject

3. Worthless

4. calculated

Solution : 2. Reject



Q4. Select the most appropriate

ANTONYM of the given word.

Precious

1. Reach

2. Cheap

3. Abstain

4. popular

Solution : 2. Cheap



Q5. Select the most appropriate word to fill in

the blank.

Ramesh ______ into his own trap.

1) falling

2) was fell

3) fell

4) fall down

Solution : 3. fell



Q6. Select the most appropriate word to fill in the

blank.

India is the second most populous country ______ the

seventh largest country by area in the world.

1) but

2) however

3) and

4) while

Solution : 3. and



Q7. Rearrange the parts of the sentence in correct

order.

The government should

P : provide health insurance

Q : to buy their own

R : for those unable

1) PQR

2) RPQ

3) QRP

4) PRQ

Solution : 4) PRQ



Q8. Select the one which best expresses the same

sentence in Passive/Active Voice.

Someone has invited me to the party.

1) Someone has sent invitation to the party.

2) I had been invited to the party.

3) I have been invited to the party.

4) I was invite to the party by somebody.

Answer: I have been invited to the 

party.



Q9. Select the one which best expresses the same

sentence in Indirect/Direct Speech.

Rohan said , “I am going”

1) Rohan had said he is gone.

2) Rohan is going.

3) Rohan said that he is gone.

4) Rohan said that he was going.

Answer: Rohan said that he was going.



Q10. select the alternative which is the best

substitute of the words/sentence.

Showing a lack of courage or confidence

1) Tenacious

2) Indomitable

3) Timid

4) Gutsy

Answer: Timid



Q11. select the alternative which will improve the

bracketed part of the sentence.

The trick is in (keep) the flavors simple and fresh.

1) keeping

2) keeps

3) to keep

4) no improvement

Answer: keeping



Q12. select the alternative which will improve the

bracketed part of the sentence.

Yes, amazing things (has happen) with the launch

of the internet.

1) is happening

2) had happen

3) have happened

4) no improvement

Answer: have happened



Q13. Select the correctly spelt word.

1) coniferous

2) coniferos

3) coniferrous

4) coniferros

Answer: coniferous



Q14. select the one which is opposite in

meaning of the given word.

Jubilant

1) Happy

2) Excited

3) Celebrating

4) Sorrowful

Answer: Sorrowful



I learnt he had

A-spoke about yoga, slums, and Indian

B-never been to India, yet he

C-cinema with conviction

1) ACB

2) BAC

3) ABC

4) CBA

HOME WORK



She said to her friend, “Where did you go yesterday?”

1. She asked her friend where she had gone the day before.

2. She asked her friend where had she gone the day before.

3. She asked her friend where she was going yesterday.

4. She asked her friend where she went yesterday.

HOME WORK ANSWER




